ADVANCED CHEMISTRY

REVISION

THE FIRST 5 WEEKS
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1. Define each of the following words so that you can differentiate between them:-
ELEMENT and COMPOUND, ATOM and MOLECULE
2. Label each of the following parts on the atom.
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What is the name of this atom?
Why are the 2 parts labelled “E” different?

c. In what ways does this relate to the above atom?
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d. If you pick up an atom off the ground how many electron should there be?
e. What are the relative charges and masses of each of the particles found in an atom?
3. Fill in the following table. : -
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4. Write down the electron configuration of the following atoms/ions. Lithium, nitrogen, argon, and
magnesium ion. Draw each of the atoms including the electrons surrounding each atom.
5. Why can it be said that the fluoride ion is, in one way, similar to the noble gas neon? Draw the 2 atoms
to illustrate your answer. g
6. Fill in the following table by writing the correct formulae. N =
A =
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7. Fillin the following table by either giving the name or the formula of the missing part.

NAME FORMULA
Dihydrogen monoxide H,O L
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8. What is the difference between the bonding in the compounds in question 6, and that of the bondmg n

the compounds of question 7?

9. Write balanced DISSOCIATION equations for the dlssolvmg of the soluble solids potassium sulphate

and magnesium chloride.
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10. Using a solubility table write down a balanced precipitation equation leaving out the spectator ions. If
there are no precipitates produced then write down no reaction. ‘
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Potassium hydroxide
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Barium hydroxide and
magnesium iodide
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Strontium II iodide and
Barium hydroxide
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